MonLines MWHO0OO03B

Swivel TV wall mount up to 55 inch

Assembly instructions

1. Scope of delivery

Make sure that you have received all the parts included in the delivery before you start the
assembly. If any parts are missing or defective, please contact your dealer.

M6x14 M8x16 M6x30 M8x35
M-A (x4) M-B (x4) M-C (x4) M-D (x4)
D8 D15xA8x5 A15xD8x15

M-E (x4)  M-F (x4) M-G (x4)

Gy (O

W-A (x4) W-B (x4) W-C (x4)

EN

*MonLines

dividual

2. Assembly preparation
Before the actual installation, please note the following instructions for proper installation:

1. This bracket is designed to be installed and used only as specified in this manual.
as specified in this manual. Improper installation of this product may cause damage
or serious injury.

2. This product should only be installed by a person with skilled craftsmanship and basic
knowledge and experience in assembling.

3. Ensure that the surface on which the bracket is to be mounted can support the total load of
the unit and all components connected to it.

4. If you are mounting the bracket on a wooden stud wall, make sure that the
bracket screws are fastened in the centre of the joists. It is recommended to use a joist
finder.

5.  For safety reasons, only lift and position equipment in pairs or with a mechanical lifting
device.

6. Tighten bolts firmly, but do not overtighten them. Overtightening can damage the
components and significantly reduce their holding power.

7.  This product is intended for indoor use only. Use outdoors may result in product failure
and personal injury.

Be sure to read the assembly instructions before assembly - installation - commissioning! This will protect you and prevent damage to your product.




3. Mounting on wooden or stone walls 5. Hanging and fastening the TV

Wooden wall

&
)

Stone wall

4. Attaching VESA braces to TV

viiey
xx®

MonLines | Am Marienhof 8, 22880 Wedel - Germany | T. +49 4103 - 903 87 00 | F +49 4103 -903 87 11 | info@monlines.com | www.monlines.com




